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Theory Charging 

Resistors:

R1, R2 parallel 1/R1 + 1/R2 = 1/R_eq   ( 0.768

0.768, R3 series ( 0.768 + 2.43 = 3.198 

Capacitors:

C2, C3 parallel 3.9 + 1.3 = 5.2 

5.2, C1 series 1/C1 + 1/5.2 = 1/C_eq ( C_eq = 1.688

Tau = R_eq * C_eq = 3.198 * 1.688 = 5.40 ms (milliseconds)
Ohm * farad = second 

Kilo-ohm * microfarad = 10^3 * 10 ^(-6) second = 10^(-3) seconds = ms 

Charging simulation
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Theory Discharging 

Equivalent capacitance ( same as above 

Equivalent resistance = series R3+R4  = 5.1 
Tau = R*C = 5.1 * 1.688 =8.61 ms 

Simulation Discharging 
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